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Note: Write answers to the questions on the objective answer sheet previded. Four possible answers are given. Which
answer you censider correct fill the correspending circle A,5,0C or D in front of each yuestion with marker or ink on

the answer sheet provided, .
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1.1 The time deposits ate callst: WA T USAs 101
(A)  Metallic money sidles (B)  Paper money S %K
(€ Near money s p {D)  Legal money AL
2. International economic recession occurred in: :IH{%C;;’U%(}.["JB 2
(&) 1945 ®) 1939 (€ 1990 (D) 1976
3. To increase profit a firvn trizs to minimize, .,.;;.jf PSS ?’a,rf g .__w_,'}g’.-{,i.ipj:(ﬁi? 3
(A) Revenue (e (B) Cosi A (C) Demand .# (D) Supply 4~
4. The economic laws are: Wil 4
(A) Exact ¢° (B) Permanent  Ji () Conditional 4/~ (D) Quantitative S
5. When marginal utility is zero, the total utility is: :.g..t'smiil;ﬁq_rﬂ}‘uﬁrﬁ.,,a 5
(A) Maximum  wijents (B) Minimum Fef (C) Zero # (D) Negative &
6. FElasticity of demand of ---- -- salt is more than unity. .+L§xukJ;,JﬁJ ey, iF
(A) Salt JZ  (B) Ghee N (C) Car & (D)F o7
7. The elasticity of perishable goods is : PAALYST IR
(A)  Zero e (B)  Greater 0 wlic. ¥
(Cy  Less than unity F e it (D) Infinite 1.1
8. When AC curve is going down, the MC curve is: G...w?"‘ Fnl,;kg_.uf_&.«wml'..ﬁ &
(D) Horizontal &

(A) Above 4 (B) Below £ (9] Parallelz

9. The demand of factors of production is: rede S it 9
(A) Direct oty (B) Indirect  &isy (C) o5 (D) Negative F

10. Transfer payments include: ® :;,Jl‘;‘ﬂu,z?s,fdu';u 10

(A)  Stipend .*\ (B) House rent B

(C)  Car fare @ (D)  Rentof land s

11. The rising trend of prices is ca . h:.‘..t'lgl!l Yo, lenl g 11

(A) Inflation By (B)  Deflation Iy
(C)  Velocity of m shd (D)  Quantity of money S
12. The sun spot the ‘% ed by: Y B Uit 12
(A) AdamS L rh (B) Ricardo Sa3igs
(C) W.SJ LSRRIk (D)  Robbins L
13. The ing institution to correct the balance of iUz 2) & LSS B a3

(A) slamic Bank L LU (B)  World Bank il
(©) TMF sdngises (D) Asian Bank L

14. The most important source of revenue of govt. is: :§..;:;5U:.:...,rsi3,u'ﬁfaxﬁ 14
(A) Fee S~ B Taxes £ (C) LocalRates  &oft (D) Fines Liz

15. The cannon of taxation in which the govt. :';'m(q_t;_._f_.;,m.;i!,]',[l}’_._,,#,'d,,Ju,gbgbf?ggdﬂﬂ 15
bears very small cost of collaction:

(A)  Cannon of equality lgluse Joual (B)  Cannon of economy s LS Jouol
(C)  Cannon of elasticity silasad Josl (D)  Cannon of productivity  Slohrs Joual
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Section - 1

2. Write short answers of any six parts from the  (6x2=12)

following:-
(i} Give definition of economics by Kobins.

(ii) What is meant by scarce rescurces?
(iii) Define total utility.
{iv) Define consumer behaviour.

(v) Write the names of methods of measuring clamicitv of

demand.
(vi) Define demand.

(vii) Define suppiy.
(viii) What is meant by extens:on of supplv?

(ix) Give two examples of perishable goods rfrom practical

life.

3. Write short answers of any six parts fromw the (652=12)

following:-

(i) What is meant by average fixed costs of production?

(if) Define average revenue of {irm?
{iii) Prepare the schedule of law of constant returns.
(iv) Define the law of increasing costs.

{v) What is meant by interna! eccnomies of scale”

(vi) Differentiate between normal loss and abnormai |
of firm.

OLs

(vii) Does a monopolist firm aiways gain abnormal profit?

(viii) Write down four characteristics of land as a factor of

roductions.

{ix) rite down four factors of enhancing mobiiity of

(i) Define net national produ:t.
(ii) What is meant by transfer paymenis?

(iti) What is meant by multiplier?

(iv) What is meant by bill of exchafige?
(v) What is meant by a crossed chequ
{vi) Define inflation. 6

(vii) 'What is meant by recessiga”
(viii) Define imports.

(ix) What is meantdy indipect iax?
% Section - 1}

>
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Note:- An e questions from the (8x3=24)
following:
. Define Robbins definition: of Econoraics -/,
and explam its main points? =

6. Explain the law of increasing 1 eturn with the help of
schedule of diagram.

7. Explain in detail the theory of Marginal Productivity.

8. What is meant by Inflation. Explain its causes.

Y. Define Cannons of taxation.
BY2-11-4

x O

[abour.
4, Write short answers of any six parts frow the _ ( 1 —eeiin A L £ ettt
following:- .\ A =

{ﬁﬂﬂdl} GJL‘?-:'ILN Jog

IJ}I oo
..g e b /5,? LT {-.'..Lj.v( Y cJ_’ B1O%)
BTNy S
?.f_n/_\r"a'_.ar;}.....kr

-ﬁ-,d-_--i'/; L; ,_,1,‘;_,5'-

-L;:Jrn-é‘f-'ij.’Lizu

L RS L PGS A
WAy I

- s

":'g‘;,_,ll ;’k-(;,.ﬂé;‘f:;’:;f;
._.,v,_i:,f'l;-{‘}'-udﬂ*”(jp;ﬁl ,:}‘_L’:’iuc,{,fﬁjn/‘}u
iz B Lamgadiefilitn
et oL et Pl apaie et
?{_J!/i..:fé‘.-df"! Akl

S S M L

(10 /,:‘ Mr',j .ri:yl_fl_Lf
0 e Ko S Sttt

B e gt il S el P S

_.,,gijfu’.ruu_@uﬁfi;

Pt o e E g

St i ek

{'.;i:_)r/'_b(;‘_;},tr

Ce S e g michE

LS S

fa 5 i A s

LSl ialn

?‘-:_'_Jljﬁ{fra_,.‘)‘éri.-l}@
(723 >

-g‘."g el ‘z,uir'g-,f a..:j.!r Lt itn

olontf 1 L A P S dtorns S o 2

*_c?:c:.,;ju}-’;l-_ﬁ»rn;!ﬁ,r?v‘.*‘.Pl.J-iJJ"!u:‘fw;'F

—

-r_{fa,;k‘b‘@?ib;d.d;bhy;ﬁ«/ﬁ
B Lt e e

o S L;‘,__f_:kug

Marks : ot

)
W
(i)
(11i)
(1v)
(v)
{(vi)
(vit)
(viii}
(ix)
-3
(i}
(ii)
(iif)
(iv)
(v)
(vi)
(vii}
{vii1)
(ix)
4
(i)
(i)
(iit)
(iv)
)
(vi)
(vii)
(viii)
(ix)

1
L

-0

=7
-8




